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~ OPTION-A
. (Macroeconomics )
Paper COM HG 2016

1. Answer the followmg questions as dlrected ’
| 1x10=10

‘wﬁmmﬁmﬁwm

(a) What is comparatlve static economic,.

analysm? o 5
. ooRiE 3 wfAfos R & 2
.(b) Define effectivé demand. ‘ o
AP vifERT et Rt
v'(C) ‘Whét, is"mean.t by aggregate: supply ?
j (d) ‘_Name the author of the book ‘Thé )

" General Theory of Employment Interest
and Money.

The General Theory of Employmenf .
Interest and Money @lz'\’l?ﬁ ERPEN] I
ﬁmrn

4 (Sem-2/CBCS) HG 1/2 (MAE/RM)/G 2 -




fe) What is the shape of long-run aggregate
supply: curve ? '

| R vnsn‘ﬁas AN (T wﬁ @rc:@zn ‘
(). What does‘a vertical IS curve mean?

‘WWIS @ﬁﬁﬁﬁﬂ?

g State the cond1t10n of equlhbnum in
" the goods market. :

WWW 56 S |

(h) What is the most common method of
' measuring mﬂatlon ? '

w@%mwﬁ&%m«qﬁm% .

f(i) The value of money and the price level
are related mversely/ directly.
(Choose the correct answér)

| 'mewwmﬁw/
' ._Ml : (% et AR Slaear)

() What is meant by margmal propen81ty :
to consume ?

| _Wc@ﬂﬁa@qﬁmﬁsw?
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2. Answer thé_.following questiohs: - 2x5=10

(d) Why dOes' the aggregate demand curve ]
. slope downward ?. '

ﬂwfﬁasstfim mr@mﬁwﬁw@@?

(b} State . two 11m1tat10ns of the IS LM
model. '

IS'LM W@WWWI
(o] What is somal cost of 1nﬂat10n ?

'-WWWM%?

{d) - DlStlnnglSh between fixed exchange rate
and flexible exchange rate.

"ﬁaﬁﬁwmwwﬁﬁmww
mﬂﬁvmﬂeml

(e DlStlngulSh between' ,irilduced' investment
' and autonomous investment.

i mﬁﬁm'ﬁmwﬁnﬁﬁmmwm@“
o
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3. | Answer any Jour of the followmg questlons
5%x4=20

Wﬁmmﬁmmb‘/ﬁmwm

(a) Explain - the nat10nal income identity .
using circular ﬂow of income in a three—
sector economy :

%ﬁﬁ%ﬂ@@@ﬁﬁwvﬁﬂmw
"ﬁsﬁ?@ﬂWﬂﬁﬁﬁ‘TWWl

(b) How is the LM curve affected by the
change in the supply of money?
Explain with a dlagram :

. JEE @PIFE ARISW BRI LM @Wﬁm
- erﬂ%s =T ¢ e RIS Y 4 -

(c) "What is marglnal efﬁ01ency of capltal ?
* 'State the -determinants of margmal
efficiency .of capital. '

R GEC WW%?WW em'@as
WﬁWWWI

(d) Explain the trade-off between inflation.
- and unemployment

Wmﬁamwm%mw
= '
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(e Explam the cost-push theory of |
' inflation. '

%Qﬂmmamﬁ%wﬁmw:

(ﬂ- : Bneﬂy explam the arguments in favour
of flexible exchange rate ‘system. .

| mﬁaﬁﬁmmw’fwﬁwmmﬂ '
X WWI '

4, Answer the foiloviring questions: 1’O><4=4O ‘

S R e e ﬁzn

'(a) DISCUSS the determlnatlon of N
‘equilibrium rate of interest and level of

income with the help of IS-LM curve
analys1s ' :

IS-LM (4. Resmes W © Sy E S
TR iy SR R S <
' Or/a%al o
- Discuss how income and the interest
rate are affected by an increase in

government. spending and an increase
in taxes, usmg thé IS-LM curve model.

5+5= 10
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W@ﬁm@gﬁﬁwwm
T‘émmﬂmmﬁ—mlsm cwf@?.
'WWWI.

(b) Explain the nature- of demand—pﬁll
. inflation. What. measures would you
suggest to control such inflation ?

5+5—1O

mﬁm@ﬁ— :{mwﬁﬁ 2P amn 40| a3

: :{am%f%ﬁﬂmm—ﬁﬁwwmaw
Or/W

Discuss the effects of inflation on

* production and distribution. | S+5=10

| 'Wﬁ%aﬂmwﬁ—aﬂemw
| SORPTR SNl 34|

{c) Explain Mundell-Fleming model with

 flexible exchange rates .

| aﬁaﬁﬁmmtﬂt‘w@@ﬁ\ﬁﬁmw,
Wl ' ‘
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. or/wam

' Discuss the ,der;ivaﬁon 'of the IS‘curve
from the goods market in an '0pen

économy with suitable diagram.

T& YRS T TS IS ([@AOE @EIE

I 4 = o iz 41|

What is meant by investment function ?
Discuss the factors which affect the

~ level  of mvestment ~ - 248=10

mﬁwﬁm%mpﬁﬁmﬁw
MCW%WWWI

Or/ w3t
Explam Keynesmn theory of demand

for money. Write how it is superior to

the traditional . quantity theory - -of
money. . : 7+3=10

'WWWWWWWWI

' Wﬂ@&aﬁ‘?ﬁwm%m%@@
foran
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OPTION-B
( Insurance and Risk Management )
Paper COM-HG-2026

1. Choose the most appropriate answer for the
following questions : o 1x10=10

T il eI Boig T s S ¢

(a) Which of the: following .is not an . -

. objective of loss. control ?

. ReRe G wfS R T TR
(i) Loss preventlon '
= dfermy
) (ii).«. Loss reduction
- o g
B (iii) Loss retention
= 4
(w) None of the above
@O GBI8 T

(b) -Which of the following is an example of
: systema’uc risk ? : :

T D! AT I W‘f ?
(i) Inflationary risk
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(i) ‘Interest rate risk

T yeR g o

. - | (i) Fbreign exchange risk

‘ i N (w) All of the above

L et

i l . A.(c)» Total number of Wholetlrnc dlrectors in
R -IRDAI is - '
. Rpals m@a I G
e 4G

- - @) 5(eTW)

| (i) 7 (‘1 TH) -

) 10 (30 &)

(d) IRDAI was estabhshed in the year
' VIRDAI mam—zmwk%r ?
() 1995 (mae BTS)
(i) 1999 (>35> B9)
(i) 2000 (2000 57S) |
(iy) 2001 (3003 57®)
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(¢) Which of the following entities are
regulated by IRDAI? - : :
ficse @NER af$PiR IRDAIS mﬁaﬁ@

A2 »
) _ General irisurance Coﬁipanies
o S R

(i) Re-iﬁsurénée companies

(iii) Inéurance’ -intermediaries
I-NGEORFR
(iv) All of the above
@viga SIBIRCTBI |
(fj Accepting two or more insurance in
respect of the same subject matter and -
from the same insurer is called

T B Tl ot o R 9o
. ¥t wroie T o FRE O [ 3F
W , |
(i) re-insurance
(i) double insurance
. oI
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I

: ‘(iii). Co-insurance
e
.(iv) None of the above
@9 ote T
(g The main function of actuary. is

- management of risk and uncertamly
The statement. is

T O ST ARG wwﬁa
o, T | TfeH!
). True (98)
(i) False (9%)
(h) - “Life insurance contract is a contract
- of indemnity.” The statement is
“Sea §fe @Ry #o s §i%'~|”
() True (%%) |
" (ii) False (W¥%)
i) “Fire insurance is a .céhtract 6f
uberrimae fidei.” The statement is
SRR <GB G R gﬁv I AR
() True'(¥®)
(i) False (Jo7)
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() “Hull irisuranee is the main subject ’
T matter of life insurance contract.” The
statement is - '

“z7 I SR ﬁﬁ*zrra qa ﬁmﬁ@ amcbt
(i) True (m‘a) |
(ij) False (wm)

-2, G1ve brlef answer to the followmg questions :
‘ : 2x5=10

TS ﬁzn am« 2 %@a fral 8
(a) ) Explam the concept of nsk
."ﬂf“i’?ﬁﬁ ewnzﬁ S c T

- kb) State any two differences between fire
insurance and marine insurance.

w@%mm@%ﬁrﬁwm ﬁzasmgb‘r,,
i<y T | .

} '(c} . State two objectives of rerinsuranee.
ST 7o Sy B
(d) What is meant by insurable interest ?
W =i qf%lm s e |
(é) State two advantages of insurance.

P 757 R e
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3. Answer any four questlons from the
~ following in about 150 words each :
Rl 5x4=20
' wﬁmmﬁﬁmmm >eoﬁmw
F—\ﬁ@ e forai ¢ '

(a) Explam the concepts of systematic and
unsystematic risk with su1table
examples.

fﬁvﬁﬁ?’@ﬁﬁaﬁﬂz AT @m$<aaqﬁﬁaﬁ -
PR T SRR |

T Ty e e
iy e

~ (b) State ‘the differences between co-
insurance-and re-insurance.

%ﬁmm%ﬁ%ﬁm@@ﬁm|

(c) Write a short note on 1nsurance
ombudsman.

?NF@W%ﬂﬁﬁieﬂa—«ﬁﬁsqxﬁﬁﬁﬁ#mu

' (d) -Explain the main features of hfe
- insurance.

éﬁ&wﬁhwaemvwbﬁﬁacmazmﬂnZEnu

(e) Write a detailed nqte on different types
- of motor vehicle insurance policies.

e Yt T
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i) What are the condltlons of 1ndemn1ty .
under a contract of i insurance ? Explain.

Ww@rwvﬁ«WWWr

| 4 Answer any four of the followlng questlons
in about 600 words each’: "~ 10x4=40
R ePPrR Rcaicat o1t e 2ffUT voo
T 1S f%@a@ %@a fori 8 |
(a) What is meant by nsk management? -
Elaborately discuss the risk
management process . . 2+8= lO
xR ~iRblE I & <@ 2 wﬁ*tvzﬁ |
' ﬂﬁﬂ?ﬁﬁ e@znﬁ?r wﬁmﬂ aalf

(b) Explam in detail the essentlals of a vahd
insurance contract

) @a%m%wﬁa“@mwﬁm_.
WI

(c) - What are different types.of in.surance ? -
Write a detailed note on (i) fire and

(u) marine insurance. - 4+(3+3)=10 -
o eroRe S R e () O I, W=
(i) GRS 82ie u‘lﬁﬁ'ﬂ'ﬁ@ CT,WT%F«’HI
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()

)

Discuss the- regulatory framework of

‘insurance sector in India.
-WW?WWWWI

"~ Explain the impact of globalisation on
' ‘.Indlan insurance sector. *

Tige© wi‘fmﬂeaevﬁ— csnm?lwqaﬁ—ﬁ.'
R

Discuss the steps taken by IRDAI for
protectmg the interest of policy holders .

10

ﬂﬁﬁwwwﬂw A< IRDAIGT

mwm@wﬁn

What is meant by measurement of

~ risk ? Explain in detail about different -

methods used for measurement of risk.

2+8=10 .-

Wmmwwﬁmﬁsqmwmm

MRS S IRz Rfen simfomr wiEe
- |

.Discuss the 1mp0rtance of insurance

in our day-to-day life..

WW@WW@@QWWI

4 (Sem-2/CBCS HO12 MAE/RYC 16 10000



